>, VEDURSTOFA

2 VEBURS Vedurfarsyfirlit

dagur
medalhiti (°C)
hamark (°C)
lagmark (°C)
urkoma (mm)
urkomutegund

1

2 53 7,6 3,2 0,0

3 6,1 9,3 4,2 0,0

4 6,2 8,7 25 1,2 ri
5 7,9 9,8 6,4 51 ri
6 9,2 12,4 5,8 2,3 ri
7 10,8 14,5 8,7 1,2 ri
8 10,4 12,6 8,8 0,3 ri
9 9,9 12,3 8,8 4,4 ri
10 8,7 11,8 8,0 2,9 ri
11 8,2 11,3 6,3 0,0

12 7,1 9,5 6,1 10,6 ri
13 5,6 9,1 4,0 14 ri
14 5,2 7,8 3,7 25,1 ri
15 3,9 6,7 1,9 6,8 ri
16 5,0 7,0 0,2 0,1 ri
17 7,6 8,9 6,0 3,6 ri
18 8,7 11,2 6,6 2,8 ri
19 7,5 10,2 51 1,9 ri
20 52 8,9 4,1 2,1 ri
21 4,8 7,6 1,8 8,2 ri
22 6,1 8,8 2,0 4,2 ri
23 6,1 8,0 2,6 2,3 ri
24 6,3 8,6 3,1 1,7 ri
25 6,8 9,3 50 0,1 ri
26 6,4 9,6 4,8 4,3 ri
27 5,8 8,5 3,6 4,8 ri
28 7,0 8,3 5,2 29 ri
29 8,9 10,6 7,4 17,4 i
30 6,6 9,4 6,0 1,6 ri
31 7,6 9,6 55 1,2 ri

Medalhiti (°C)

Fravik fra medaltali 1991 - 2020 (°C)
Medalhamarkshiti (°C)

Medallagmarkshiti (°C)

Urkomumagn (mm)

Hlutfall drkomu af medaltali 1991-2020 (%)
Medalvindhradi (m/s)

Solskinsstundir (kist)

snjédypt (cm)
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solskin (kist)
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medalvindur (m/s)

O | COH| JEOR [N
o™ © d b

3,0
3,8
3,4
2,0
13
4,6
3,3
4,8
4,8
3,8
4,2
2,5
7,2
7,3
8,4
6,1
5,3
10,4
9,7
5,9
6,6
5,4
5,6
6,1
4,7
2,4

mesti vindur (m/s)
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4,6
6,6
6,1
3,2
3,9
8,5
8,8
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10,5
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12,4
9,7
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4,0

Reykjavik mai 2023

hvida (m/s)

:
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4,8
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Urkoma (mm)

vindhradi (m/s)

sélskin (kist)
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